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MATHEMATICS TEST
60 Minutes—60 Questions

DIRECTIONS: Solve each problem, choose the correct
answer, and then fill in the corresponding oval on your
answer document.

Do not linger over problems that take too much time.
Solve as many as you can; then return to the others in
the time you have left for this test.

You are permitted to use a calculator on this test. You
may use your calculator for any problems you choose,

but some of the problems may best be done without
using a calculator.

Note: Unless otherwise stated, all of the following should
be assumed.

1. llustrative figures are NOT hecessarily drawn to scale.
2. Geometric figures lie in a plane.

3. The word line indicates a straight line.

4. The word average indicates arithmetic mean.

RS P a0 g = <8 whatdees V’* luating  po YOUR FIGURING HERE.
(r+b—g)(b+g) equal? bif&: o /; '—’}Séﬁ
A. -76
D‘ B 12 F/wy andf < aj'f No £4sy y 70 Simp »éefaref
D. 15
TR R Gay —(-8) (4 +-8)= (/9) #ie ."“74»

2. Tasha’s regular pay is $12.00 per hour for a 40-hour
workweek. For each hour over 40 hours she works in a
week, she is paid 1% times her regular hourly pay.
How much is Tasha paid for a week in which she
works 49 hours?

Feal Ltz probless solvng

|+ times B2 = 4 /8

/7/ﬂ14mr'5 & req Mfw/m/ + 7,{;m,:: @/2

E’ gsgs.og 9/ Y50
. $601.5 )2 =

H. $642.00 0 ¥

1. $661.50 ¥/8 =/6& -
K. $882.00 o Y 2 |

3. To attend the Press Club Annual Banquet, members
- pay $40 per ticket, while nonmembers pay $50 per
ticket. What is the revenue, in dollars, from the tickets
when 100 member tickets and n nonmember tickets are
purchased?

A n+ 100

B. 50n + 40(100)
C. 50(n + 100)
D. 50(n+40)

E. (50+40)n

L L cr f’éﬂb
2/57"5{‘9/4/ ¢ quals ’7?»3.‘4{ /e venic &

140(100) + 450 () = S0» +-=%s/mj

é’/ﬂ%f‘Mj /?/ fé/fﬂxg /Sémfaf
7/?/’05/5/&/ .50/[/Z

xmég Nmber ITF

4. How many integers bétween 9 and 59 can be divided

by 5 with a remainder of zero?

F. 9

G. 10
H 11
Jo- 120

K. 13
ACT-61B-SAMPLE /j ‘?} J/ g j’i =) ..5
There ave tea oF

t Lg s /s

PR e
%ose, mﬂ,{vfﬁ,{ag ﬁ g‘

ée_ﬁf/eeﬂ G antt 57 and
Cﬁdzjqf’?( [75}*?

.‘»é‘, /@% ;5—-

GOONTOTHE ™,
Zﬁ) {éfﬂ'



2ANAALLLAL ANLR

5. Of the 200 parkmg fspaggs (;n a pafikmgklot 4%dof thef DO YOUR FIGURING HERE.
spaces are reserved for handicapped parking, and 12 o : .
the nonhandicapped spaces are suitable for compact Okyd’” / 2’ / /;l/j ﬁ/ﬁ fa—’
cars only. How many spaces that are NOT reserved for ;
handicapped parking are suitable for noncompact cars?

D 5 2% of Zoo = oy wz00= 8
C. 184 !
-y %2(3) CAI12 = L0 20020 = /90

6. The shadows of a fence post and a nearby flagpole

Simi lar sz /es
(both vertical and on level ground) were measured at

the same time..The fence post’s shadow was 3 ft /"ﬂ u/‘/]-f? f) é L2
long, and the flagpole’s shadow was 10 ft long. If the p 4 f/ ﬂ_j ra a7 £ / =

%/s fence post is 6 ft tall, about how many feet tall is /ﬁ Le -f— M 50/& f_W

the flagpole? é’ é
S i ! X
. \5 t —

2 A Woporton 3 10

30 ;Mca g ,f/a:g/aa/ Y= |0% ‘3—20

akal--Tats

B = :3+8| /)é/f/ﬂ/iﬁ Ctﬂﬁ?é/ﬂéﬁ/ 4/% /455&5/%’7" V/Mg_’,
gis —s(ls ) = ~5(8)=-25

Do 25
E. 55

8. A 5-inch-by-6-inch rectangle is cut along its diagonal /? W fﬂ/) j /f 5 M/ /" eCW/ 5:5

to form 2 triangles. What is the area of each triangle,
in square inches?

s rectangle cato 7%
j Eoddey é/ﬁ— ona/ dﬁd’ /;JO%E LA/~ .{—;e‘é

L ié fﬂAfyer 277ang /S - A a2 — o

9. Franco is riding in a seat on a Ferris wheel. The wheel é] / r/es ﬂM /?62 ZA és

rotates at a constant rate of 1 revolution every minute.

' What is the measure of the angle Franco’s seat rotates f % ’?:;g 4; { < ﬂ/ﬁ/ff /a}? i/ //;‘;{,}Zé

around the center of the Ferris wheel, starting at the

i S i Ae
-bottom, in 5 minute? % M Mt_’, oA /#,; ff VQA{’,}’D— .’9)‘7 £ e =

£
f/
w

D : % Yoes half wty ¢ e R el
5 gloa Jull-Girle B B patpry
s oull be /ﬁﬂ

ACT-61B-SAMPLE ‘ Go ON TO THE NEXT PAGE.
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10. Which of the following calculations gives the area, in DO YOUR FIGURING HERE. Fi

square centimeters, of the square below, with sides 4,
8 centimeters long? reﬂ_- % = f‘ﬂﬁ Fei=— S

F. 8+8 8 $ Gl
H G. 8+8+8+8 ‘ | S=8 7 tn #3E 2 e

H. 88 8 2 _glr_géé'-g 75’457 as

J. 8:8:8-8 .
K, 8 8

. 3 i
11. A recipe for 1 loaf of bread calls for 35 cups of flour. /?ﬂ ZAI&’ 44 / /4,_, ﬁ/ﬂﬂ ,,.—7? D7

What is the maximum number of such loaves that can

be made with a bag of flour that contains 123 cups of / 5 7
3 Y= 127837

flour?

—

3 e ;2_3/

B.
C.
D

/4 A 3 __Z /Wlf /ane‘g _._121375_"'375’ 3 3’
EX Yo tan' estmate by ° mhslyug Aenomitor By 5

12. The expression (3¢ — 2d)(2¢ + d) is equivalent to: M V4 /f/ / i, /V é/ /Vg 7/ /S

[4

o wei
Rem

O e
e = bt 3ed - Hde - 24+ =

S [P 1) (gc)(zf) (:)(d) - (24 zo/()
Sher <15 ~

13. Eight points with integer coordinates are plotted in the / e
Plocd po s a Sscordnse v tan 1 3 Covinate 5 eomet /
-coordinate of at least f . g
: o i i quadran? L —> (e
B o e K ‘ L — ( T
ki e A > (-, —=)
‘ ' g ZE —> ()
LUz o, o e owly be
L Aok 5’/\/65 ’Xw (") 1A en f

RN

sits

e

bﬂ.m_— °
L/

Ho W
S EwEaR=cEN
m.

s

14. When George fell asleep one mght the temperature /ﬁ ; ’f ”’ 1/_ ’? i
was 28° Fahrenheit. When George awoke the next ﬁ?fj;}; ?f; T ‘[:

~ morning, the temperature was —15° Fahrenheit. Which f J Vo i it
of the following, where + denotes a rise in temperature )f' A /*’s /‘f {‘ E,? 477 ‘éf / A ,.—'” £s -
and — denotes a drop in temperature, best illustrates the
temperature change from the time George fell asleep

et o /5) 284573

LT D ference

H B
L Means 5% Z//eres adpop ey,
éué fm&f tew, W e ‘A’%"/ = 73
ACT-61B-SAMPLE M GO ON TO THE NEXT PAGE.
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15. Which of the following is equivalent to (a5 ?

AN N AP

DO YOUR FIGURING HERE.

A o 6(&}19 b Rules of expopenis
B. 4 =

E c o " L3 24 J4 Y
B, & ( é’) = = 0{—

g, A = =

16. Ohm’s law for electricity is I = %, where T is the cur-

rent flow in amperes, E is the number of volts, and R is

~ the number of ohms of resistance. A technician has a

circuit with a resistance of 34 ohms and a current flow

of 7 amperes. Which of the following expressions
gives the number of volts for this circuit?

L=7
K=

F 34+7

G. 3427

J.

?/4%’7 Valuts iaito
| ﬁ/l/e/}/ 749//07&{/_/43-

= £y

=
%

H. 3:-7 | 3[/*? ::“_‘_é %34/
Li 34

In the figﬁre below, AC || DF, AEBF is isosceles with
EB = FB, and ZCBF measures 35°. What is the mea-
sure of ZDEB 7

17,

B

A. 1072° A s

B. 110° ? &

G- 125° i? i

D. 135° 2 °
—) E. 145° L= |45

/?zra//e/ Z/'!)é’.S Mﬁ/

_ J)sosceles triangles
since AEBF o jsoSceles,
LBEF = L BFE.

4(_'? 4+ LBE:Z:_:':_ l180°
L? + 25=/80°

18. A sequence of 5 numbers has 6 as its first term and 32
as its last term. The first 3 numbers are an arithmetic
sequence. The last 3 numbers are a geometric sequence
with a common ratio of 2. What is the common differ-
ence among the first 3 terms?

&

v = Lommon -
dfferencé
Com m 27
Kat:o

Ari %ﬂ/cfﬁ

&eoine tric —>

F. 0 : :
B Rl A A S
H. 61 \4! >[ ‘ N
J. 67 X s ek
K. 72 17w 3te HE
19. Water in Lake Forman is frozen at Celsius tempera-

tures at or below 0°. Which of the following expres-
sions represents all the Celsius temperatures, 7, at
which water is frozen in Lake Forman?

s v A, =10 : _é
v B. T>0 Q '
C. T20
D. T<0
—»E. T<0 ﬁ;ﬂ’/‘/

ACT-61B-SAMPLE
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20. ?gr?;}ef\‘a:ﬁi ;1:1 da zrzc;::tgtlléir s}rgglc}lt s}\lwrnmmg pfooi DO YOUR FIGURING HERE.
ow
Ionglvqls a d1agona1 of the surgface of the wa?e?:nil Sfe Fy %ﬁ 50 reaxn” ﬁ coreyy
00
- gt - | ,A/A Pqﬂ\qqormw 7 rw/ﬂ/eé
. 441 4 =
K. 500 24 %g .:.t i ’1—’ oF 2‘%@ //, f‘ka,ﬁ/{—

21. Let a, b, ¢, and d be positive real numbers such tha
a'® < 1'% < ¢'% < d'°. Which of the numbers a, b,c,ord

is the greatest?
v A, a /(ebf Mﬁf é/ /9‘9
B

A'XJOV??S — en bl
47/)0&/@2»7‘—/@ é/%{f Z/‘%'

e "PosiTive” D woul 74 y base 7% 7%/“)”35*57”# _
—>D. d NoT be ?'”ru p gz,// jeal’s Cread S /L /Arges7
E. Cannot be determined from the given information —

Ave J‘ﬁ—- 7“& Cav r M L g ) EAE

22. :)r\:ll'lca}?t value of x makes the equation 7x — 3(2x —4) = 10 D{Sf é M V(L ﬂl’& 77/
F =12 ' égf W Z% /]/éjd,f\z’/— /I/W

é{e.
H -2

£ | :
= 194 =g

J. 3 :

K. Pllr Tl

23. Which of the following (x,y) pairs is the solution for 3 ‘f < 7’2697 s L WM
the system of equations x + 2y =5 and -2x + y = 10 ? M’ ” 47
2 ot

pros B ko ege s RIE T
BOD Vadues, 0. s IS B "@) Vhewf'

SR
D. (50 for oNF and 3’9“// .._-—_ @‘-f-’ﬁ’y: 20 A
E (3-9) ot Your awsuitR ' Y = &4 C//,gffé_

24. For nonzero numbers x and y, which of the followzng M fé}
iy o € QMMJ(

‘expressions is NOT eqmvalent to —x i

= ) Buist /aws regeuire yﬂ«, T e

H:—; SArTy SNy 7{ ) -—*‘I_C)_()“_ X

ACT-61B-SAMPLE Y‘Q(lj PTDMQ 18 GO ON TO THE NEXT PAGE.
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25. Ir}dthe figuret}zgzlow& thet interiolJi of a square “{itﬁl ?-incﬁ - DO YOUR FIGURING HERE. '
sides is partitioned into smaller squares with 1-inc : ]
sides. The interior of the small squgre at the center of /4 74 (/8 % /0&/ 7 jéﬁ’/(/,s Aa /t//
the figure and the interiors of all of the small squares .,
~ that share at least 1 side with the large square are p er C e/
shaded. What percent of the interior of the large square / A / / 2, &?/6’ 0/
is shaded? =5 D Wholt — UnSHBAE =

D A 17% _ | Rea Ao i

50% o) :
662% 5 . - |7 3¢9 : 68 sk é’gh/
25 56 = oo e

68% -_
84%

3
e oW

26. A researcher observed the growth of a certain colony é‘/xfﬂgmﬁﬁfi f/’ﬂw %

of bacteria and recorded the data shown below.
Day 1] o and %"Vflff/f 'jél’”?%\/éﬁ/

Number of cells : : LI
in the colony 100 | 295 | 898 |(2,705|8,194|. .,S@f r f.;x :

For the days observed, fWHIC jing expres- /7 — /l/ W é-@&" ﬂ /&? s f

sions best approximates'he number of cells in the

colony on the nth day? T : :
F. 100n — ,Doé,ff;?‘ lLovt o 2427 .
300n . DeeSA7 brork fer Doyl

G. 3
H. 300-3" -——Poé—-‘s‘/"? Wo"}{ 7407' Dd’)"i
J.

K

10031 — Lpph S :
- 3003 — Dogs i) work Sy Bovd

27. Smiley the Clown charges $10 for scheduling a party e é et S £
and $5 per hour after arriving at the party. Happy the . : Ap : //"7;},’ / = 7‘;’4 z o
Clown charges $10 per Hour for a party but does not Sk / ) /
have a charge for scheduling a party. The graph below 9} V eaf _S DL re é/ A Vs
shows the 2 clowns’ wages, with 4 as the number of :

hours worked for a party. For what range of hours : o 47//
worked for a party does Happy the Clown make as 5 e o

much or more than Smiley the Clown? " i 1

N 5wl PP

pftee 2 hours
//ﬁppy- -7 %/J//@ Y A

2. -3 e 45 dh

hours wc_;rked

1

h=2
There is no range for which Happy the Clown will
make as much or more than Smiley the Clown.

\

F e

s | - 19 GO ON TO THE NEXT PAGE.
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28. Which of the following is an equation of the line that
passes through the points (1,-2) and (4,7) in the stan-
dard (x,y) coordinate plane?

Foy= x-2 | #/)] anS RS

6 G.y=3x-5 | An ’J%foé/«&'wg&/c'ép'f—_
H. y= 4x+ 7 7/29;/},,7' ”{// 5/9 e
J.

3

5 1 - [
YS3¥+r3 | Gre a ng%{ﬂ—;r— So
K. y= —%x-l— L) rF

‘.j/.‘f ; g - '-‘, X
eting "é"’*‘g 5/ 9P ¢ & féi":c-c.. havy CrSt/ 7

DO YOUR FIGURING HERE.
e

S/‘};&(; Vz.“ %
752'7//‘ 4"/

=9
_._B_:Z}

G bus D—

29. In the figure below, A, C, and E are collinear; AABC
and AADC are as shown; and angle measures are as
marked. What is the value of p ?

Deﬂkﬂ_s - (800:

A
. £S5
‘I’N‘Mjfa. 110 -
B. 58
6. 58

“ D. 46 '
R & E

T AAC JES gnf -%/yﬁzé finES
Becacese 4 12 are
Cp lli Ve r P TN 700 -
/88 — (654569 = 70°
2P + 64+ 70 = /po" p
2P=44 2P

30. The diameter of a circle is 10 centimeters. What is its

circumference, in centimeters? PN
y E. 5n — D
G. 10m = i or
H. 20n
: J. 25%m

K. 100%

L= 200 ZeW' D=2r

A/refes C;/pﬁ\’
b ecast
D= /0

31. A day care center has 160 feet of fence that was
'donated to construct a fence around a play area. The
area is to be rectangular with its length 12 feet longer
than its width. Assuming all of the fence is used, what
will be the approximate dimensions, in feet, of the play

K ec7ang /LS and) Perime7ers
' OF At

w

2/‘ #on) [241)

l60 = 2(12+4) + 26/

o= Y +2Y L=3Y

area? i
A. 28 by 40 Pehma_}??v‘? fp =
B. 34 by46 ﬁ, A
C. 36by4d4 res s j
D. 40 by 40
E. 74 by 86
32. An angle in a right triangle has measure o. If
oo e =4 S ah
-sino= 7% and tan o = 7 then cos o = 7
i
5 25
7
(o i
It IR
; 527 .
J —L=
V1,201
25
Rig

SOHCAH TOA

Cp_gd “‘i;l
= L RS

GO ON TO THE NEXT PAGE.
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33. What is the distance, in coordinate units, between (6,4) DO YOUR FIGURING HER -.
ﬂ/)’fz

and (8,10) in the standard (x,y) coordinate plane?
A.

B.

C C.
D.
E.

s NLE 1)U /A
V32

% 7V sg)m + Gy
8 \/ CIO-»L/)Z e (8“é>r3\-fw329+i/=_@5_

[ =]

34. One of the following is the slope of the line graphed in / 7£ -
the standard (x,y) coordinate plane below. Which one 5 W é- e, /4/ 759 A

i - Coorclinn7eé- Part- |
F. -8 y
e SloFer=til -0 =y

6 e s AR O -8 T =BT 5

H: -5 ' Le7is/een Céjw‘cé;& /t_¢4///$

52 _ - Q@ﬁaﬁ?g}gg&mwﬁ' s/ope 7R

=2 L Ao ey ;- 5 7 .
£ o BT TL e s B o TE ke islE)

35. A formula for the area of a trapezoid is A = -l-(bt + by)h, ‘5" ; ¥ 4
2 o/InG Sor onE

‘where A is the area, b; and b, are the lengths of the

bases, and k is the height of the trapezoid. In terms of ‘/ A é / ) ’ ?L e i A i e
2 @ via ble omrtenrn T

A, by,and by, h="7

A.

B.
(e
-D.

¥ E.

Ahr OlHERS e
Z/V/‘éfi/wg,- oLt Hern s jo/wxvjf FoF—

L PWANYE aney /ﬁ?ﬂf’/%f/‘)u? X e

“re S Lhr offeRS. This Timé Selve Sob
74 +lo
L 2‘%/’*2 =% -:_Z'A‘

=

f; 36. ‘:Which of the following equations has the pressure P - fri)
., varying directly as the square of the temperature T-and a r / a /0 //)

inversely as the volume V ?

B DigectVariation 15 like slpe

F. = ‘ /<
. ___} G. P=IO‘E‘2 ; e = x i
@J' cadme EnVersée l/abmaﬁoxuy/w L fe yaTonnl 7
v - . eguafion
). P=10Tv TN %} Cast = f___ :
K. P:lo({-)2 ‘?/ i P Mt?/ /O:k 2%
AcTelBsAPLE | ,D Ko i e GO ON TO THE NEXT PAGE.

V



37. Which of the following is NOT a factor of z° — 16z 7 DO YOUR FIGURING HERE.

—>A. -1 F 672 S
# B. 74 /%czfor/'/(/g %5—-— /é%ﬁb@cpﬁéj 2/24/’/4)

C. z+2 .

b.: Difference st |, 2 (2~ 4) (254 4) =2(20) 2+ 2)(22?(’)

E -2 Fup <qusres _
™ Standard () coondinaie pane seton "M SO HCA HTOA  andg
y nyh}ﬁor%h 77:/',0/-‘—‘3

%5 S LB A p
¢ > x 5 .

LT Sei e
Sl
K. '

39. In the figure below, AE and BD intersect at C, and the

measure of ZE is twice the measure of ZD. The mea- 7;. /’ a ,V:? /eS 4&%’ l/er ﬁCAL Z 3

.sugcl of ZA is 40;,;;@) the measure of ZB is 32°. What . :
; L Gpuals g0 — (%0732) or JOB
LPCE Egunls [OB7
Sel up Eguafion”

p+2> + (08 = /B2 D;Z%

=7
40. In the figure below, the measure of ZBAC is greater

e Besre o DAC a1 A st JJIANGIE N A Hejoms
OF Y lowmr e 77

/g Ky
N é s W;{;s) gcwm"

5C> DC ' D é@ grefczg%? Han D

\

o~

=@
wE wiS Glis Bl Sw

B

e AC:/V){;e/ja
L BACS LDAC

C

F. AB>BC

G. BC<DC

H. _
=2 ¥ BC»Pb

K. AB + BC=AC

Tmaginé AB MVing
p SRS /2 22 / /GO ON TO THE NEXT PAGE.
Cg?aw;‘f R ok wse, W 74 APNS T 2 A
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41. In a math course, a student scored 100 on one test, 97
on another test, and 88 on each of the other tests. The
student’s test average for the course, where each test is
weighted equally, is exactly 91. What is the rotal
number of math tests that the student has taken in the

course? S
S N= ToTH L Nipmber
B. 5 ~ 3 ﬂ
( b 15 o Teid Takhin/
E. Cannot be de,termmed from the given information

DO YOUR FIGURING HERE.

HVERAGES
7/f /20497 + 88 (%- 2)

G = 197 —/7¢ BB

Jow Cons Lry poed ohoree @bl ] B2l pHoF

42. An equation of a particular circle is (x — 3)* + Y2 =10}
What are the coordinates of this circle’s center and
what is the length, in coordinate units, of this circle’s

radius?
Center Radius 6" Sy /C
R AR e 1 VT ]
G. (=3,0) 5
=yH. (3,0 VI0 (X 3)
1. =(*300) 5
K. ( 3,0) 10

(- 4)""% o Ve

_r—ml‘ﬁ;lr‘@- e

TNTER Pre7ing CGuaZion
oFf CrRc/e Sfororw/a :

et
V ?}’M/rug

2"+ ( g 0)7’" ) )

—
—

10

43 The point (3,—4) is the midpoint of the line segment in

|/ the standard (x,y) coordinate plane joining the point
(8,—11) and the point (a,b). Which of the following is
B. (-2,-19)

C. (2,-3)

| E
% (a,b)?
' ' Z
D. (2:553%)

o A (-2.3)
E. (5.5-7.5) Z %

JA//

el

/‘///ﬁs’m/f /@r’m«/ﬁ—»
(’\( +YX 4 g\ +g )
%L

= 5:3”

44. If AC = 10 feet'and BD = 12 feet in the rhombus ABCD
shown below, what is its area, in square feet?

A
f D
6
E- 1l
G. 22
N H. 30
/"—? J- 60
K. 120

ACT-61B-SAMPLE

frea 27 - dd.
4. (10)(2)

23

Area & Khombus
0{ =0/;ajoupiz
A, - dhagondl,

5/(/2):40

GO ON TO THE NEXT PAGE.
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45. A right, triangular prism that is 10 feet long, 4 feet
wide, and 3 feet tall is shown below. What is its
volume, in cubic feet?

B

" DO YOUR FIGURING HERE.
Volume ot prisw
-d_.__‘_.__—.—_—_‘_-——; % 5
Simy lar 7o Voleste o C yfjv%or
A rea. 0# é’ffra,aﬁ :/,6 %};7 = 5/67 %

A. 50 \/___ bh 0/] < Y3 10 '
. 60 - — ¥ S e =
b it e Z: 4,

Use the following information to answer
questions 46—49, :

A balloonist collecting data on pollutants at various levels
above the ground takes off at 8:00 A.M. When the balloon is
in motion, it moves only straight up or straight down and at
a constant speed within each hour-long interval. The balloon
is at an altitude that is a multiple of 100 meters at the begin-
ning of each hour. The balloon lands at 2:00 P.M. at the same
spot from which it took off. The altitude of the balloon, in
meters above the ground, is shown in the figure below.

500

3 400

g L1\
(5] b

g 300

£ \
3 200

E \
= 100

o
8:00 9:00 10:00 11:00 12:00 1:00 2:00
AM. AM. AM. AM. noon PM. PM.

Gm%ﬂés and yea/

[ify StewarsO

7/-7;4; ITervil D Tanes Travel

[Oam = 1600 2o ft wpp
/ litpaum — 1200 /7 0 f% ‘féW”
‘/Z“%)_ i AR f{'ﬂ& 300 /f wp

time 5
| To7 oL
46. Which of the following is closest to the total distance, 17 /=
in meters, that the balloonist traveled from 10:00 A.M. 4 A
] to 1:00 P.M. ? ; ,ﬁ cem
\X F. 400 : '
‘ G. 500
i H. 600
J. 680 A
K. 700 /
it : S j 4 j + rs
47. What was the total time, in hours and minutes, that the Z_ 1 - Y
balloon was at least 200 meters above the ground? / 1 : _
A. 1hour 30 minutes : Jo30 it
B. 1hour 36 minutes (on J e /i CaUE /i 12 } 7 _
" C. 3 hours O minutes. 0 M‘—"NJ‘ € /L ; 0 . {/ ’5;
D. 3 hours 6 minutes '\! : f = d ‘{P/{m j }\/E ‘e‘f[ﬂ/@g/\f aNf ’ ,i )
E. 3 hours 48 minutes — = ~ /f ; : % I
s Tough 10 de ong | anet
M J 24 : PAGE.
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48. Which of the following graphs best represents the

DO YOUR FIGURING HERE.

absolute value of the balloon’s velocity, in meters per

hour, between 8:00 A.M. and 2:00 p.M. ?
(Note: Ignore acceleration and deceleration.)

T—O

//F.' - 500
( ; 400

]

300

200
100

absolute value

of the velocity
(in meters
per hour)

i Gm—e i
? . 800 10:00 12:00 2:00
AM., noon PM.

AM.

H

time

G. 500

400
300

I
/

200

J

|

(in meters
per hour)

100

absolute value
of the velocity

0
8:00
AM.

H. © 500

o
D

AW

10:00 12:00 2:00

AM. noon PM.

time

400

300
200

(in meters
per hour)

100+

absolute value
of the velocity

AM.,

I 500

time

‘i
A\
/1\

1

0 -
8:00 10:00 12:00 2:00
AM. noon PM.

400

300

200
100

(in meters
per hour)

absolute value
of the velocity

>0
F=)
=)

10:00 12:00 2:00
AM. mnoon PM.

K. 500
400

300

200

per hour)

100

of the velocity

absolute value
(in meters

0
8

:00
. AM.

time

10:00 12:00 2:00
AM. noon P

M,

g ‘Mi?”é gl el
M 2{‘}{;& 0%? ?gﬁfﬁo& s/EagE

Cverymt EXCEFT F
ﬁ/'/ﬂé’S/\/g /e %/ecf?“' 7%é
Clorrec? Dis7Tancé %ﬁ »

—=- S qmie yr;&}gé

ap H77udle-grep A

I // ' 4
_ . ’ ! DlyI N
49. Which of the following phrases best describes the bal- " W A /' &/ ﬂ/ %é A L 2

loon’s motion between 10:30 A.M. and 12:00 noon?

Descended, and then ascended more quickly
Descended, and then ascended more slowly
Stayed at the same altitude '
Ascended, and then descended more quickly -
Ascended, and then descended more slowly

—7
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50. In the standard (x,y) coordinate plane shown below,
AABC has vertices at A(-2,3), B(-2,1), and C(-1,1). A
translation is performed on AABC, and the image of
each point P with coordinates (x,y) is the point P’ with
coordinates (x,y") where x" = x + 3 and ¥ =y—2. The
vertices of AA’B’C” are in which quadrant(s)?

y
; quadrants 1I I
/( of the = e
u standard (x,y) AL e >
d coordinate
planc I

F. QuadrantI only
G. Quadrant II only
H. Quadrant I1I only
—==» J.  Quadrants I and IV only
K. Quadrants II and III only

Fuag /
ovsis
70

} bk

Ruasd I .

DO YOUR FIGURING HERE.

Trans faTions ‘v X4
CoordinaT? FPlaré

s S/de T
Ao right (+3), Hew

v The 7% wre Wonld be 2
T. Iy they

ok
e [ rove
(a2 %éﬁ ol

51. In the figure below, AB = CD. Fred wants to apply the
Side-Angle-Side (SAS) congruence theorem to prove
that AABD = ACDB. Which of the following congru-
ences, if established, is sufficient?

I TR .
(Vat r’e_.) ‘
DB equals s /*

A. LA=/C / / 5 <> D @..

B. Z3=74 ,4}@@-@ DL fav/ D b+ .

C. £2=14 st DG St € /ﬁw/‘/

g Weed «nclidecn ANG/ES ‘
52. A camper at Site C sends a distress s.igna]. The signal

is recerved by both Ranger Station A and Ranger Sta-
tion B. As shown below, Ranger Station A is 6 miles
directly west of Ranger Station B. Ranger Station A is
directly south of Site C. The entire region is flat and
level. On a map, the angle formed at Ranger Station B
by drawing straight lines from Ranger Station B to
Site C and to Ranger Station A measures 57°. About

how many miles away from Site C is the closer of the

2 ranger stations?

6 Site C
E sin 57°
OGRS
G cos 57° ) /Z
\L H. 6 sin 57° o
J. 6cos57° | 575
Ranger 6 Ranger
-2 K. 6tan 57° Station A

Station B

ACT-61B-SAMPLE

| ﬁ/"janame z"/’y |

The Closer ot %&3 twr
7C}/0M _g/'é(‘_’ é M
i

b
.éﬁ“\/q7o: 7 7
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53. If thle dlametler oi;la circle is tnplid the a;e:il of the A" ﬁf DO YOUR FIGURING HERE.
resulting circle is how many times the area of the orig-
Crr/es awy area

inal circle?
TrHiple DiasysZEd

A. 1.5 ﬁ///j//\//f?'L C’//’a/(
B. 2.25 D

£si a=m(8)" A—’-Cj;gg 7 (22) . 7.9 p*
o & = D/ Ha 97’»4?5 @Z‘/ﬂz;’.;,'/ &

/?a tio And //ﬂé#é///y?
. _ Gile G+ 5= 255 Aoy
54. Only tenth-, eleventh-, and twelfth-grade students

attend Washmgton High School. The ratio of tenth
graders to the school’s total student population is / 6 ' 9 _.-;7.& ,;4/ E / ;/ :
86:255, and the ratio of eleventh graders to the ﬂ// & _ _}L // 7/’4, c
school’s total student population is 18:51. If 1 student

is chosen at random from the entire school, whlch ?_ S S
grade is that student most likely to be in? g é 7Lr 7& Z
F. Tenth ; c;( 77 o#% / 2

G. Eleventh
H. Twelfth

'J. All grades are equally likely. g 123 ? (4 76’

K. Cannot be determined from the iven information e —
ZRE

SRy GrearrdF cKane— 2S5 255
4 - AEW%Y,/M\M{ WP % JpTA

Abso/u7? Vatee

K £ O

55. When x and y are nonzero real numbers such that
|x| =—xand |y| =y, which of the followmg must be
positive? ’7\/ :
pin s ¢ /x/ = - : . O
P R / / ?/\ “ / ;
D. x+y Zpé /V 7 R - W
—2>E. y-x (% '/5'{77'"@,{3{:“7_- Q/ /‘/@ 4 %
Whin Yo Sul AVt LT TAE 5/4'7/'44
Lot & P57

UL s per /97’/5"///%4' A7 fo5r T
4 Proper7ions ‘zuyg 59/://#7 Ar
56.Ifx’*;=-’-then——v Vﬂnb/FS : .

:ﬁ"'

S (Z”( 31) Z( X+ é”) (W%ﬁ Prodecct; c‘/w/

W= -“Z'x.,z—z,
___(Z V-»z_)

“‘9* ——““—"“/‘>4+ 4y
5y = —
—

e

g g_,;”f/"

=@
i Bl W N 4

=

=
)

GO ON TO THE NEXT PAGE.
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57.

ﬁE. 8

Kelly asked 120 students questions about skiing. The DO YOUR FIGURING HERE.

results of the poll are shown in the table below.

- ]/M/A/
. Question Yes | No Sﬁ @ f" 7
1. Have you skied either cross-country

Dm_qmmS
or downhill? 6381555
e Gt 5}%«7& ) +hrowp, +Verthe

3. If you answered Yes to Question 1,

did you ski cross-country? 45 |20 | Bﬁ% — 7272/4»

After completing the poll, Kelly wondered how many
of the students polled had skied both cross-country and

downhill. How many of the students polled indicated | 4 ro “79/ — ,De:‘? &r !V '4;;, /;/ j g{{"f

that they had skied both cross-country and downhill? '

%.' ;{% ! C s D iJ!f 6)’{%%2 = C'm.s; C%M?&'? M, ers
B : 1

5 . o A 0774 = /20

28+4/5"+5‘“5' = /20
(&8 —/20 =2=8 '\ ¢

1

59.

. A right tnangle has legs of length 25 sin @ feet and 7', ﬁ N/ p M €,7 R V

25 cos 6 feet for some angle 0 that satisfies 0° < 6 < 90°.
What is the length, in feet, of the longest side of the ,

triangle? 2 ¢
E 8 Aowdest Side ot 2554
G 1
?‘ 22 V‘aJﬂ't‘ /fﬂ,ﬁfﬁ/f’ ) 25—6‘/25) é«?g oy @)
K. Cannot be 2¢=;termmedg jl;r; tlj; ’g;\:::lrl;io;matloﬂ (2_ g Siar f’? :
& (/5‘//2—&9) %élj{(/ﬂg Q) )L
e , é?* (S//vzé’ + /ﬂzm,)

T e 7)
Fhorfalll] NONZEro x, 3}; and z s;Jch thatJE? = yz, which of l\\ @2 9 (/ /
e follow must be equivalent to x b

; ing t qui . Yy 50,\/'/*(7 Jor' \\\\ \\ \)""—} o
W e e
Pra Vs -f>c Substifulione N - £
C. yz -_;2_'_: \L?‘\-%_
D. £

: =
Xy (% &

ACT-61B~S;¢\MFLE 28 GO ON TO THE NEXT PAGE.
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60. g\lfhenl—3 ?x <4 and -1 <y<2, what is the least possi- DO YOUR FlGUyERE
e value forx — y ?
>k U Cans Gor7 brd%
s Smgilest yalest dndd Lork
K. 5

bl bynrd
: 'END OF TEST 2

- STOP! DO NOT TURN THE PAGE UNTIL TOLD TO DO SO.
DO NOT FIETURN TO THE PREVIOUS TEST.
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Test 2: Mathematics—Scoring Key

*EA = Pre-Algebra/Elementary Algebra
AG = Intermediate Algebra/Coordinate Geometry
GT = Plane Geometry/T| rigonometry

Subscore Subscore
Area* Area* ‘
Key EA AG GT Key EA AG GT
1o A 3. B '
2555 H 32. F
3. B kel - $35 3. C
4. G i e 4. G
550D 3. E
6. H ) e 36. G :
i iB 37 A
8r 38. F :
95t D Ll Aoy
106+ H 40. J
T1r LA 41. C
125a=H 42, H
137 E 43. A
14, F 4, J
1528 F 45. B
16. H 46. H
17 E 47. D
18. G 48. F
19%- E 49. E
200 G : 5000 0
2045 b 51 E
2. G 52. K
23. A 53. E
24 F 54. G
258 [ 550 F
260 4 56. H
Pl D) BT L E
28. G B8
295 E 59, 42D 3
2805 G 60. F E
Number Correct (Raw Score) for:
Pre-Alg./Elem. Alg. (EA) Subscore Area
(24)
Inter. Alg./Coord. Geo. (AG) Subscore Area
(18)
Plane Geo./Trig. (GT) Subscore Area
: (18)
Total Number Correct for Math Test (EA + AG + GT)
(60)

08618

52



